CATHOLIC HIGH SCHOOL
PRELIMINARY EXAMINATION 2. 2014
 MATHEMATICS
PRIMARY 6
PAPER1
(BOOKLET A)

Name :

Class: Primary 6
Date: 21 August 2014

Total Time for Booklets A and B: 50-min
15 questioﬁs ]

20 marks _

INSTRUCTIONS TO CANDIDATES
Do ot tum over this page until you are told to do so,
Foliow all instructions carefully. |
* Answer al questions.
Shade your answers in the Optical Answer Sheet (OCAS) provided.

The use of calculators is NOT allowed.

E Booklet A and B consist of 12 pﬁhted pages.



-Questions 1 to 10 cany 1 mark each, Questions 11 to 15 cany.2 marks each.
.-Fer each question, four options are g;ven Onie.of themis the correct answer.

Answer Sheet. All dragrams are not drawn to scaIe {20 marks)

1. 50 653 people took part ina 'maﬁatﬂbn. : Express this number to the

nearest hundred.
’ (1) 50 000
(2) 50600
; (3)y 50700
(4) 51000

2. Which one of the following is the same as 3080 mi?

(1) 3t 8ml
(2 3¢ soml
(3 30t 8ml
(4 30t 80mi

3. 450.1+300 is the same as

(1) 4504 + 3+100
) 450.1+ 3x 100
(3) 450.1+100x3
) 450.1+10x30

4. Arrange the following numbers from the smallest to the largest.

7, 7.2, 7.02
v 7 ., 72 , 702

@ 7 . 702 . 72

@ 72, 702, 7

4 702, 7 . 72

1 {(Go on fo the next page)



5. The figure below shows a pyramid.

Which one of the following is a net of the pyramid?

M (@)

&) j (@)

6. - A basket contains some apples é;_nd oranges. There are% as many
oratiges as dfples in a basket. What fraction of the fruits in the basket is
apples? T
M =

3
@ 7
4

® 3
5

@ 3

2 (Go on to the next page)



Emily uses 2 eggs to make 18 cupcakes. How many- eggs does she use

to make 117 cupcakes?

M 13
@ 10
3 9
4

Mr Rajah sits on a chair with his feet touching the floor. Which one of
the following could be the possible height measured vertically from the

floor to his knees?

{1) 5000 cm
(2) 500cm
(3) 50cm
4 Scm

- Find the value of 3_2_w — W+ 4whenw=36.

(). 14
2 18
@ 22
4 76

{Go on to the next page)



~10. _In the number line below, how much:longer is-ABthan CD?
A B
: ¢ D i
b e
RS T RPUR ST ROOF W SRS I N
I 1 ] i i i i f | ) T | i
0. 0.2 04 086
(1) 025
2 030
(3 040
@ " os5
11.  What percentage of 1 litre is 50 cm®?
(1) 5%
@ 2%
(3)  20%
4) 50%
12, In the figure, AOD is a straight line. ZAOC = 125° and Z/BOD = 142°.

What is £ZBOC? : :

B C

A D
@
(2) 38°
(3) 55°
{4 87°

{Ge on to the next page)}



13.  Aden and Brandon were standing in a queue lo board 2 bus Aden was
. in the middle of the queue. Brandon was 19™ in the queue and behind
Aden. There were 6 people belween them. How many people- were
standing in the queue to board the bus?
(1) 23
(2 24
(3) 25
(4) 26
14.  Jerina bought an.equal number of vanilla and chocolate ice-creams for a
party. % of the vanilla ice-creams and % of the chocolate ice-creams
were left at the end of the parly. What fraction of the total number of ice-
creams was ealen?
1
(M 3
19
@ 3
il
3 15
is
4@ 15
15.  The usual price of a racket in a shop was $218. Jon bought aracketata

discount with 7% GST on the discounted price. How much was the

: ._diSCOUBi if he paid $214 for the racket?

() $14.98
@) $19.26
(3) $18

4 ¥

END OF BOOKLET A
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INSTRUCTIONS TO CANDIDATES

‘Do not tum over this page urti you are told to do so,
'_Fol!ow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

The use of calculators is NOT allowed. N

.. Booklet A and B consist of 12 printed pages.



Questions 16 to 25 camy 1 mark each. Wiite your answers in.the spaces | Do not wiite
provided. For questions which require units, give your answers in the unils | in this space.
stated. A ) {10 marks)
16.  Wiite 1 million, 4 hundred and nine thousand and five in figures.

Ans:
17.  Express 0.75 as a percentage.

Ans:
18.  Find the value of 2.58 x 19,

Ans:

(Go on to the next page)



.19, List all the common factors of 16 and 24. .

AnRs:

Do not write. ..

in this space.

~20.  What is the missing number in the box below?
X7+ 11 x7= {x 14

Ans:

21.  The figure below is one of the faces of a prism. How many faces does
: the’ prism have?

Ans:




22. Alston spent '2% h to wiitch TV and play computer gathis. He'used % hto

watch TV. How much fime did he spend playing computer gamie?
Give your answer in the simplest form. .

Ans:

23.  The figure is made up of a-recta-néie and-h.-vo quartér circles. The
breadth of the rectangie is 10 cm. What is the total area of the shaded
parts? Give your answer in terms of .

Ans: . e

Do not write
in this space.

{Go on 1o \he hext page}



-24.  Mrs Chew bought 120 kg of fiour. She repacked the flourinta bags of Do gibt write
: T _ in this space.
%kg each with no left over. How many bags of flour did she have? o

25.  The figure below is made up of squares.
Shade 3 more squares so that AB is the line of symmetry of the figure.

A
i

-Toteil marks for questions 16 to 25

9 - {Goonto the next page)



Qiestions, 26 fo 30carry2 marks each. Show. your-working aiid write yous
answers in the spaceg provided.-For questions. which require units; give your

ahswers in the units stated:

. {10 marks)

26.  For every purchase of two movie fickets, the third ticket is free. A movie

‘ticket is priced at $10.

George needs 8 movie fickets. How much does

he need to pay for the tickets?

27. The patiern in the box s
. Extend the tessellation

Ans: $

Do not wriite
in this space.

hows part of a tessellatior.

- - . - -
% - - - - - -
. . \ ..
[

- - - -
- - -

-

- T

-

- L -

. - .
- - -

. by. drawing-three‘more ‘unit shapes in the spacé |
provided inthebox. .. - . -« ) . o

10 {Go on o the next page)




28.

Raphael bought a packet of sweets. He divided the sweeismto 5 equal
portions. He gave 1 portion and 9 more sweets to his' youriger brother.
He was left-with 23 sweets. How many sweets weie'there in the packet
at first? -

Ans:

29,

There are some theatres in.a cinema.comb!ex-:The average number of
seats in a theatre is 224. 40 seats are removed and -the average

number of seats in a theatre becomes 219. How many theatres are |

there in the cinema complex?

Ans:

11 (Go on to the next page)

Do not wiite
in this space.




30. In me figure below, ABC is a triangle. Lines AF and DE are drawn | Do not write
perpendtcuiar to CB. CF =FE=EB. Thearea of tnangle DBE is in this space.
13.7 cm? and is half the area of triangle AFC. '
What is the area of the tnangie ABC?
C
Ans: o

Total marks for questions 26 fo 30

END OF BOOKLET B
END OF PAPER 1-

12,
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INSTRUCTIONS TO CAND!DATES 100

Do not turn over thls page unta! you are told to do so.
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your | Do not witte
answers in the spaces-provided.-For guestions which requiré inits, give your | in this space.
answers in the units stated. All diagiams aré not drawn to'scalé. . {10 marks)
1. A striing y cm long is cut intq_t_wb pieces. One piece is 5 cm longer than
the other. What is the length of the longer piece?
Give your answer in terms of y.
_Ans: cm
2. In the diagram ‘betpw,‘._r_th‘?é'.,lle:tfé.rs-.v_‘, M, AT, H and, S are. drawn on a
‘square grid. List all the letters which have poth perpendicular -and
paraliel lines.
. . ) - ’
\ I thTE
[ 1]
Kl i) -
< T4 T .—.J, - )
Ans:
{Go on to the next page)



3

The square grid below shows the plan. xn31de a shoppmg cenire.
The candy shop is north of the food court.

Toiflet |

Bank

Candy
shop

Toy
shop

Food
court

{(a) In which direction is the candy shop from the bank?

(b) Mr Tan is settingup a sports' shop.
The location of the sports shop is to be south-east of the candy

shop and north-east of the food court.

~Put.a tick () in the square where the spoﬂs shop will be Iocated

Ans: (3)

Do not write
- { n1his space.

The ﬁgure shows a rectangular glass tank partly ﬁ!led with umt cubes.
-How many‘more unst cubes are rieeded to fill the tank completely’?

Ans:

(Go on to the next page)



5. Jeremy arranged 5 letters fo form a pattern. Thefirst 4 rows are as | Do notwrite

sbown below.

Row 1 .
" Row2.

Row3

‘Row4

AB

BA
AB

BA-

CDE

ECD™

DEC .

- GDE

Wirite the arrangéﬁéntxpf the 5 letters in Row 83.

Ans:

in this space.

{Go on to the next page)



For questions 6 to 18, show your working and write your answers in the

spaces provided. The humber of marks available is shown in brackets flat
the end of each question or part-question. All diagrams are not drawn to

(50 marks)

scale.

6. The line graph below shiows the number of books sold by a shop from

July to December in 2013.

100

‘90

80

70

€0

Number

of books

sold
: 40

30

20

10

0

Jui Aug Sep - Oct Nov

Month'

Dec

-(a) What was the average number of books sold per month from July

to December in 20137

(b) The total number of books sold for the same period from July fo
 December in 2012 was 872. Find the percentage decrease in the
total number of books sold for. the same period from 2012 to 2013.

Do not write
in this space.

Ans:(@) [0} m_]l
(b) . 12} l e
(Go on to the next page)






The pile chart represents the number of fruits sold at a fruit stall. Do not wiite
650 apples were sold. How many oranges were sold? . in this space.

Orarnges

Ans: - 3]

{Go on to the next page)



When Jane started: foldinig paper crane, Rase had already folded 80 | Do not write
- ..paper cranes. For every7 paper ¢ranes that Jane folded;: Rose folded 5 § it this space,
paper cranes. How many paper cranes would Jane have folded when
both girls had the same number of paper cranes?

Ans: -~ 81

{Ge on to the next page)



10.

- area of the 2 Shaded rectangles?

Reciangle ABCD is made up of an unshaded square, an unshaded Do rot write
rectangle and two shaded rectangles. The area of-the square is 36 cm? | in this space.
and the perimeter of the unshaded rectangle is 76 cm. What is the total.|

B3] |

(Go on to the next page}



.

money to buy- _%—{of the récfufred.nurﬁéer of paz:kets of balioons. When

Ivan needs balioons for a camival. The balldons are sold in- packets of | Do not write
80 only. Each packet is sold at'$2.50." Van has the exact amount of | in this space.

his mother gives him another $15, he is able fo buy the required number
of packets of balioons. How many balloons does Ivan néed?

Ans: 141

"{Go on to the next page)



12.

lvan cycled from the school to the library at 80 m/min. His sister cycled | Do not write

from the Fibrary to the school at 65 m/min. Both of them started cycling | in this space.
towards each other at the same time and did not change their speeds
throughout their journey. When lvan reached the library, his sister was
480 m from the school. What was the distance between the school and
the library? - - - '

Ans: | | 14 E 1

10 {Go on to the next page)



13.

Do not \;vrite

Douglas had 'sbn’ié starps. Hésbld % of the stamps and then gave 162 | 1, o space.

stamps to. his b%t fnend He was s left wrth :-) of the siamps he had at -
first. How many stamps did Douglas have at first?"

Ans: ‘_54]

(Gc on to the next page)
B



14.

Danny builta skateboard using two identical wheels of radius 2.9 cm o not write
each and a wooden board as shown below. The distance belween the }in this space.
cenfres of the two wheels is 59.2 cm. He rolled the skateboard from one.|-
end of the room {o the other end touching the walls at both ends. The
distance between the two. walls is 11.2 m. How -many complete
revolufions did each wheel make?

Take == 3.14.

walt _ Wooden board

o
\

58 2cm

Ans: 41y i

12 (Go on 1o the next page)



15. . Aand B are two rectangular containers. The base area of A is 50 c® | Do not wiite

_while the base area of B is 40.cm®. Container A'and B ¢ontained some | in this space.

water and the height of the water level in Confainer Awas 43 cm as | -
shown below. e - '

L L L LT LTy

43 cm

A B

Douglas then poured some water from Container A into Container B.
After that, the height of the water level in both containers became
30 cm. What was the height of the water level in Container B at first?

Ans:_ 4] l

13 (Go on fo the next page)



16.

sheels of paper each day, Frank would have 20 sheeis of paper left

Frank and Benjamin each bought some sheets of paper fom @ | Do ot wite
bookstore. If Frank used 40 sheets of paper each day and Benjamin | " 1S Space-
used 80 shee!s of paper each day, Frank would have 500 sheets of | -
paper left when Benjamin used up all his papers.- .

if Frank used -80-sheets of -paper-each- day#andMBen;amm used 40

when Benjamin used up all his papers.
How many sheets of paper did Frank and Benjamin buy altogether?

Ans; _[5] . I

' ' {Go on to the next page)
14 :



17.  Atasale, Mr Chua bought an electric keitle and a fan at a discount. He | Do not write
paid & fotal of $105 for these two items. “The amount paid for the electnc in this space.

keltieis % as lj_nuch as.that for the fan.

(@ How much didhe pay for the fan?

(b} The total price of these fwo ltems before dnscount was $127.50.
Mr Chua was given a discount of 20% on the electric kettle.
What was the percentage discount given for the fan?

Ans: (@ : | 1211 ——'
B {2 13]

{Go on {0 the nexz page)
15



18.

The price of a child fickét and an adult ficket to a concert are $3 and $8
fespectively. The amount collected from the sale of the child fickets is
$730 less than the amount from the sale of the adult tickets. The
number of child fickets sold is 35 fewer than the number of adult tickets
sold. How many fickets are sold altogether?

Do not wiite

"in this space.

: END OF PAPER.
PLEASE CHECK YOUR WORK CAREFULLY.

16






EXAM PAPER 2014
SCHOOL : CATHOLIC HIGH
PRIMARY : P6

SUBJECT : MATHEMATICS

TERM :: PRELIMINARY 2

QL1Q2 /3 Q5| Q6| Q78| Qo

Q10

011

Q12

Q3| qQi4 ] Q15

3 2 1 z 4 4 1 3 3

i

4

1 2 3

16)1409005 17)Y75% 18)49.02

19)1,2,4,8

21)8 22)1s9h 23)251] 24)320

26)$60 27)

28)40
29)8
30)82.2 cm2

Paper 2 ,: N
1)(y—5) v 4
2 L

.......

2)M,H,S
3)East

4)4x3x3 =36
36—-13=23

25)

20)25

7/,




5)Row 5 AB ECD
Row 6 BA DEC
Row 7 AB CDE
1 set = 6 Rows
836 =13R5
ANS-: ABECD

6)a)55+30+704+90+80+95 =420
420-6=70
h)672 — 420 = 252
252
672 x 100% = 37.5%

7)56° —14° = 42>
180° —42° —42° —14° = 82°
100° —82° =18°

8)2u = 650
3u = 650x3 =975
>

9)7-5=2
80+2 =40
40 x 7 = 280

10)76=-2 =38
6 =6
38x6 =228 cmz2

11)iu = $15
5u=15x5=175
75+25=30
30 x 80 = 2400

12)80 — 65 = 15
48015 =32
80 x 32 = 2560 m .

13)2 =10
7 35
1=7
5 35
35—-10~7 =18
18u =162
35u = 162 x 35
8
= 315



14)1120 — 29 —59.2~29 = 1055 -
3.14x 5.8 = 18.212
1055+-18.212 = 57.9

Ans: 57 complete revolutions

. 15)43-30 =.13
50 x 13 = 650
65040 = 16.25

30 - 16.25 = 13.75 cm

«— 500
20

16)F

B

3u =500 — 20 =480
6u = 480 x 2 = 960
960 + 20 = 980

17)a)5u = 105
1lu = 105+5 =21
3u=3x21 =$63

b)2u = 2 x 21 = 42
80% = 42
100% = 42 x 100 = 52.50
80

127.50 — 52.50 = 75
75-63 =12

12 x 100 = 16%

75

18)35x 8 = 280
730 — 280 = 450
8-3=5
4505 = 90
90 + 90 + 35 = 215
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